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Note
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Whole Note

Half Note

Ouarter Note

Eighth Note

Sixteenth Note

S P I

Beats
4
2
1
1/2 = half
1/4 = one fowrth

Rest
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Whole Rest

Half Rest

Beats

4

Quarter Rest 1
Eighth Rest  1/2 = half
Sixteenth Rest  1/4 = one fourth
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O — 6 Dotted whole note = 6 beats

The dot makes the note
(whole is 4; half of 4 is 2; 4+2=6)

longer. You need to add
half of the notes value

J Dotted half note = 3 beats to the original value
. =3 (half is 2; half of 2 is one; 2+1=3)
J Dotted quarter note = 1 2 beats

. =10

(quarter noteis 1; half of 1is 2 ;1 + V2 =1 12)

ﬁ Dotted eighth note = % of a beat
. =34 (eighth is %; half of V2 is V4; Y4 + Y =%)

Dotted whole rest = 6 beats
(whole is 4; half of 4 is 2; 4+2=6)

Dotted half rest = 3 beats
(half is 2; half of 2 is one; 2+1=3)

Dotted quarter rest = 1 %2 beat
#- =115 (quarter rest is 1; half of 1is ¥2; 1 + 12=1 1)

Dotted eighth rest = 3% of a beat
*7+ =34 (eighthis %; half of ¥ is %; Y5 +V = %)
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Write the number in the blank.

1.0ne © Equals

. One Equals

. One Equals
. One Equals
. One

Equals

. One Equals

o

. One Equals

. One ﬁ Equals
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9. There are

10. There are

11. There are

12. There are

13. There are

14. There are
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g,

ina
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15. There are

16. There are

17. There are

18. There are

19. There are

20. There are



ANSWER KEY

Note Beats Fest Beats

o Whole Note L | Whole Eest 4

I

J Half Note

rd

il

Half Rast 2

Juarter Rest 1

M

J Cuarter Note 1

Eighth Rest 1'2 = half

-
H

Eighth Note 1/2 = half

Sixtesnth Best  1/4 = one fourth

il

Sixteenth Note 1/4 = one fourth
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=11

= ¥

=11

= 3%
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Dotted whole note = 6 beats

The dot makes the note
(whole is 4; half of 4 is 2; 4+2=6)

longer. You need to add

half of the notes value
Dotted half note = 3 beats

(half is 2; half of 2 is one; 2+1=3) BRI il

Dotted quarter note = 1 2 beats
(quarter note is 1; half of 1is 2 ; 1 + ¥ =1 14)

Dotted eighth note = 34 of a beat
(eighth is ¥2; half of 12 is ¥4; 12 + 14 =34)

Dotted whole rest = 6 beats
(whole is 4; half of 4 is 2; 4+2=6)

Dotted half rest = 3 beats
(half is 2; half of 2 is one; 2+1=3)

Dotted quarter rest = 1 2 beat
(quarter rest is 1; half of 1is 2; 1 + 12=1 14)

Dotted eighth rest = 34 of a beat
(eighth is '2; half of 2 is 14; 142 +14 = 34)
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Note Values - Extra Practice ﬁﬁ'%

Write the number in the blank.

6

15. Thereare I) ina

1. One = Equals

16, There are __ —" 12 in a J‘

.
s

2. One 2 Equals

3. One X Equals B 17. Thereare ___

.
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4. 0One @ Equals

e P

5. One Equals 19. Thereare =~

)

7. One

2
3. One ﬁ Equals

9, There are 3 'J ina

Equals

-

10, There are E' Jina o

11. There are 12 ﬁ ina ok
2
12, There are II'
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13, There are 2 J' ina ©

14, There are ina



